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1. ��%��$& $���'�� �$��$���/ ��%&�����/ 
«�=4<6<4G4?L=O= ?D>5>F» 

 
1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 

$45>G4O ?D>7D4<<4 4<EF<??<=O O6?O5FEO G4EFLN ?D>7D4<<O 

?>47>F>6>< E?5F<4?<EF4 ED54=57> 765=4 6 E>>F65FEF6<< E $��% ED54=57> 

>5M57> >5D47>64=<O. 

$45>G4O ?D>7D4<<4 4<EF<??<=O <>65F 5OFL <E?>?L7>64=4 4DG7<<< 

>5D47>64F5?L=O<< GGD5645=<O<< ?D>D5EE<>=4?L=>7> < 4>?>?=<F5?L=>7> 

>5D47>64=<O, D54?<7GNM<<< >5D47>64F5?L=GN ?D>7D4<<G ED54=57> >5M57> 

>5D47>64=<O. 
 

1.2. �5EF> GG55=>= 4<EF<??<=O 6 EFDG>FGD5 ?D>7D4<<O ?>47>F>6>< 
E?5F<4?<EF4 ED54=57> 765=4 

�<EF<??<=4 «�=4<6<4G4?L=O= ?D>5>F» 6E>4<F 6 >5M5>5D47>64F5?L=GN 

?>47>F>6>G. 
 

1.3. &5?< < 7444G< 4<EF<??<=O 3 FD55>64=<O > D57G?LF4F4< >E6>5=<O 
GG55=>= 4<EF<??<=O 

� D57G?LF4F5 >E6>5=<O 4<EF<??<=O >5GG4NM<=EO 4>?65= G<5FL: 

- 6?445FL >D74=<74F<>==O<< < ?>7=464F5?L=O<< G<5=<O<< 

E4<>EF>OF5?L=>7> ?D<>5D5F5=<O =>6OE 7=4=<= 6 ?D>F5EE5 6O?>?=5=<O 

?D>5>F=OE < GG55=>-<EE?54>64F5?LE><E D45>F, G<5=<O<< D45>F4FL 6 7DG??5 E 

6O?>?=5=<5< D47?<G=OE E>F<4?L=OE D>?5=, ??4=<D>64FL D45>FG 7DG??O, 

D4F<>=4?L=> D4E?D545?OFL 45OF5?L=>EFL 6 =5EF4=44DF=OE E<FG4F<OE, 

445>64F=> >F5=<64FL 6>?44 >464>7> <7 GG4EF=<>>6 7DG??O 6 D5L5=<5 

D4EE<4FD<645<>= ?D>5?5<O; 

- E4<>EF>OF5?L=> D>D<G?<D>64FL F5?L <EE?54>64=<O (?D>5>F4), 

6O46<74FL 7<?>F57O =4 >E=>65 7=4=<O >E=>6>?>?474NM<E D<7<G5E><E 

74>>=><5D=>EF5= < 74>>=>6; >?<EO64FL < 4=4?<7<D>64FL ?>?GG5==GN 

<=D>D<4F<N, >?D545?OFL 4>EF>65D=>EFL ?>?GG5==>7> D57G?LF4F4. 

� D57G?LF4F5 >E6>5=<O GG55=>= 4<EF<??<=O >5GG4NM<=EO 4>?65= 

7=4FL: 

- > D>?< D<7<>< 6 M>>=><<G5E>>=, F5E=>?>7<G5E>>=, E>F<4?L=>= < 

MF<G5E>>= ED5D4E 45OF5?L=>EF< G5?>65>4; D>?< < <5EF5 D<7<>< 6 

E>6D5<5==>= =4GG=>= >4DF<=5 <<D4; D>?< 4EFD>=><<< 6 ?D4>F<G5E>>= 

45OF5?L=>EF< G5?>65>4 < 44?L=5=L5< =4GG=>-F5E=<G5E>>< D476<F<<; 

- D47?<G=O5 E?>E>5O D45>FO E <=D>D<4F<5= D<7<G5E>>7> E>45D64=<O E 

<E?>?L7>64=<5< E>6D5<5==OE <=D>D<4F<>==OE F5E=>?>7<=. 

 

1.4. �>?<G5EF6> G4E>6 =4 >E6>5=<5 D45>G5= ?D>7D4<<O 4<EF<??<=O: 
�5M<= >5N5< >5D47>64F5?L=>= ?D>7D4<<O 38 G4E>6, 6 F>< G<E?5: 

$45>F4 6> 674<<>45=EF6<< E ?D5?>4464F5?5< 38 G4E>6 (E5<<=4DE><5 

74=OF<O 38 G4E>6). 
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�<G=>EF=O5 D57G?LF4FO >E6>5=<O 4<EF<??<=O >FD464NF: 
 

- ED>D<<D>64==>EFL 7D4644=E>>= ?>7<F<< >5GG4NM57>EO >4> 4>F<6=>7> < 

>F65FEF65==>7> G?5=4 D>EE<=E>>7> >5M5EF64; 

- F5==>EF=>5 >F=>L5=<5 > 7>EG44DEF65==O< E<<6>?4<, <EF>D<G5E>><G < 

?D<D>4=><G =4E?54<N, ?4<OF=<>4<, FD44<F<O< =4D>4>6 $>EE<<, 

4>EF<65=<O< $>EE<< 6 =4G>5, <E>GEEF65, E?>DF5, F5E=>?>7<OE < FDG45; 

- E?>E>5=>EFL >F5=<64FL E<FG4F<N < ?D<=<<4FL >E>7=4==O5 D5L5=<O, 

>D<5=F<DGOEL =4 <>D4?L=>-=D46EF65==O5 =>D<O < F5==>EF<; 

- 7>F>6=>EFL > 4>F<6=>= 45OF5?L=>EF< F5E=>?>7<G5E>>= < E>F<4?L=>= 

=4?D46?5==>EF<, E?>E>5=>EFL <=<F<<D>64FL, ??4=<D>64FL < E4<>EF>OF5?L=> 

6O?>?=OFL F4>GN 45OF5?L=>EFL; 

- 7>F>6=>EFL < E?>E>5=>EFL > >5D47>64=<N < E4<>>5D47>64=<N =4 

?D>FO65=<< 6E5= 6<7=<; 

- ED>D<<D>64==>EFL M>>?>7<G5E>>= >G?LFGDO, ?>=<<4=<5 6?<O=<O 

E>F<4?L=>-M>>=><<G5E><E ?D>F5EE>6 =4 E>EF>O=<5 ?D<D>4=>= < E>F<4?L=>= 

ED54O, >E>7=4=<5 7?>54?L=>7> E4D4>F5D4 M>>?>7<G5E><E ?D>5?5<; 

- >E>7=4=<5 F5==>EF< =4GG=>= 45OF5?L=>EF<, 7>F>6=>EFL >EGM5EF6?OFL 

?D>5>F=GN < <EE?54>64F5?LE>GN 45OF5?L=>EFL <=4<6<4G4?L=> < 6 7DG??5. 

�5F4?D54<5F=O5 D57G?LF4FO >E6>5=<O GG55=>= 4<EF<??<=O >FD464NF: 

- E4<>EF>OF5?L=> D>D<G?<D>64FL < 4>FG4?<7<D>64FL ?D>5?5<G, D4EE<4FD<64FL 

55 6E5EF>D>==5; 

- >?D545?OFL F5?< 45OF5?L=>EF<, 744464FL ?4D4<5FDO < >D<F5D<< <E 

4>EF<65=<O; 

- 6OO6?OFL 74>>=><5D=>EF< < ?D>F<6>D5G<O 6 D4EE<4FD<645<OE O6?5=<OE; 

- 6=>E<FL >>DD5>F<6O 6 45OF5?L=>EFL, >F5=<64FL E>>F65FEF6<5 D57G?LF4F>6 

F5?O<, >F5=<64FL D<E>< ?>E?54EF6<= 45OF5?L=>EF<; 

- 6?445FL =46O>4<< GG55=>-<EE?54>64F5?LE>>= < ?D>5>F=>= 45OF5?L=>EF<, 

=46O>4<< D47D5L5=<O ?D>5?5<; 

- E?>E>5=>EFL < 7>F>6=>EFL > E4<>EF>OF5?L=><G ?><E>G <5F>4>6 D5L5=<O 

?D4>F<G5E><E 7444G, ?D<<5=5=<N D47?<G=OE <5F>4>6 ?>7=4=<O; 

- >6?445=<5 6<44<< 45OF5?L=>EF< ?> ?>?GG5=<N =>6>7> 7=4=<O, 57> 

<=F5D?D5F4F<<, ?D5>5D47>64=<N < ?D<<5=5=<N 6 D47?<G=OE GG55=OE 

E<FG4F<OE, 6 F>< G<E?5 ?D< E>744=<< GG55=OE < E>F<4?L=OE ?D>5>F>6; 

- D>D<<D>64=<5 =4GG=>7> F<?4 <OL?5=<O, 6?445=<5 =4GG=>= F5D<<=>?>7<5=, 

>?NG56O<< ?>=OF<O<< < <5F>44<<; 

- EF46<FL < D>D<G?<D>64FL E>5EF65==O5 7444G< 6 >5D47>64F5?L=>= 

45OF5?L=>EF< < 6<7=5==OE E<FG4F<OE; 

- 6OO6?OFL ?D<G<==>-E?54EF65==O5 E6O7< < 4>FG4?<7<D>64FL 7444GG, 

6O46<74FL 7<?>F57G 55 D5L5=<O, =4E>4<FL 4D7G<5=FO 4?O 4>>474F5?LEF64 

E6><E GF65D645=<=, 744464FL ?4D4<5FDO < >D<F5D<< D5L5=<O; 

- 4=4?<7<D>64FL ?>?GG5==O5 6 E>45 D5L5=<O 7444G< D57G?LF4FO, >D<F<G5E>< 

>F5=<64FL <E 4>EF>65D=>EFL, ?D>7=>7<D>64FL <7<5=5=<5 6 =>6OE GE?>6<OE; 



 

 

 

- D47D454FO64FL ??4= D5L5=<O ?D>5?5<O E GG5F>< 4=4?<74 <<5NM<EEO 

<4F5D<4?L=OE < =5<4F5D<4?L=OE D5EGDE>6; 

- G<5FL ?5D5=>E<FL 7=4=<O 6 ?>7=464F5?L=GN < ?D4>F<G5E>GN >5?4EF< 

6<7=545OF5?L=>EF<; 

- G<5FL <=F57D<D>64FL 7=4=<O <7 D47=OE ?D54<5F=OE >5?4EF5=; 

- 6O46<74FL =>6O5 <45<, ?D54?474FL >D<7<=4?L=O5 ?>4E>4O < D5L5=<O; 

- EF46<FL ?D>5?5<O < 7444G<, 4>?GE>4NM<5 4?LF5D=4F<6=O5 D5L5=<O; 

- 6?445FL =46O>4<< ?>?GG5=<O <=D>D<4F<< <7 <EF>G=<>>6 D47=OE F<?>6, 

E4<>EF>OF5?L=> >EGM5EF6?OFL ?><E>, 4=4?<7, E<EF5<4F<74F<N < 

<=F5D?D5F4F<N <=D>D<4F<< D47?<G=OE 6<4>6 < D>D< ?D54EF46?5=<O; 

- E>74464FL F5>EFO 6 D47?<G=OE D>D<4F4E E GG5F>< =47=4G5=<O <=D>D<4F<< < 

F5?56>= 4G4<F>D<<, 6O5<D4O >?F<<4?L=GN D>D<G ?D54EF46?5=<O < 

6<7G4?<74F<<; 

- 6?445FL D47?<G=O<< E?>E>54<< >5M5=<O < 674<<>45=EF6<O; 

- ?>=<<4FL < <E?>?L7>64FL ?D5<<GM5EF64 >><4=4=>= < <=4<6<4G4?L=>= 

D45>FO; 

- ?D54?474FL =>6O5 ?D>5>FO, >F5=<64FL <45< E ?>7<F<< =>6<7=O, 

>D<7<=4?L=>EF<, ?D4>F<G5E>>= 7=4G<<>EF<; 

- E4<>EF>OF5?L=> >EGM5EF6?OFL ?>7=464F5?L=GN 45OF5?L=>EFL, 6OO6?OFL 

?D>5?5<O, EF46<FL < D>D<G?<D>64FL E>5EF65==O5 7444G< 6 >5D47>64F5?L=>= 

45OF5?L=>EF< < 6<7=5==OE E<FG4F<OE; 

E4<>EF>OF5?L=> E>EF46?OFL ??4= D5L5=<O ?D>5?5<O E GG5F>< <<5NM<EEO 

D5EGDE>6, E>5EF65==OE 6>7<>6=>EF5= < ?D54?>GF5=<=; 

- 6?445FL =46O>4<< ?>7=464F5?L=>= D5D?5>E<< >4> >E>7=4=<O E>65DL45<OE 

45=EF6<= < <OE?<F5?L=OE ?D>F5EE>6, <E D57G?LF4F>6 < >E=>64=<=; 

- ED>D<<D>64==>EFL 6=GFD5==5= <>F<64F<<, 6>?NG4NM5= EFD5<?5=<5 > 

4>EF<65=<N F5?< < GE?5EG, >?F<<<7<, <=<F<4F<6=>EFL, G<5=<5 45=EF6>64FL, 

<EE>4O <7 E6><E 6>7<>6=>EF5=; 

- ?D<=<<4FL E55O, ?>=<<4O E6>< =54>EF4F>< < 4>EF><=EF64; 

- D476<64FL E?>E>5=>EFL ?>=<<4FL <<D E ?>7<F<< 4DG7>7> G5?>65>4. 

 

$57G?LF4F>< >E6>5=<O 4<EF<??<=O O6?O5FEO D>D<<D>64=<5 G<5=<= < 

7=4=<=:  

 

�>4 �4<<5=>64=<5 D57G?LF4F4 >5GG5=<O 

' 1 

�?445FL >D74=<74F<>==O<< < ?>7=464F5?L=O<< G<5=<O<< 

E4<>EF>OF5?L=>7> ?D<>5D5F5=<O =>6OE 7=4=<= 6 ?D>F5EE5 

6O?>?=5=<O ?D>5>F=OE < GG55=>-<EE?54>64F5?LE><E D45>F, G<5=<O<< 

D45>F4FL 6 7DG??5 E 6O?>?=5=<5< D47?<G=OE E>F<4?L=OE D>?5=, 

??4=<D>64FL D45>FG 7DG??O, D4F<>=4?L=> D4E?D545?OFL 45OF5?L=>EFL 

6 =5EF4=44DF=OE E<FG4F<OE, 445>64F=> >F5=<64FL 6>?44 >464>7> <7 

GG4EF=<>>6 7DG??O 6 D5L5=<5 D4EE<4FD<645<>= ?D>5?5<O 

' 2 
%4<>EF>OF5?L=> D>D<G?<D>64FL F5?L <EE?54>64=<O (?D>5>F4), 
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� 1 

� D>?< D<7<>< 6 M>>=><<G5E>>=, F5E=>?>7<G5E>>=, E>F<4?L=>= < 

MF<G5E>>= ED5D4E 45OF5?L=>EF< G5?>65>4; D>?< < <5EF5 D<7<>< 6 

E>6D5<5==>= =4GG=>= >4DF<=5 <<D4; D>?< 4EFD>=><<< 6 

?D4>F<G5E>>= 45OF5?L=>EF< G5?>65>4 < 44?L=5=L5< =4GG=>-
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3. '%����/ $������&�� $���'�� �$��$���/ 
��%&�����/ 

 

3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G 
>55E?5G5=<N 
'G55=4O 4G4<F>D<O 4?O ?D>6545=<O E5<<=4DE><E 74=OF<=, 7DG??>6OE < 

<=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 3 

�45<=5F E>F<4?L=>-7G<4=<F4D=OE 4<EF<??<=: 

- >>?<G5EF6> ?>E44>G=OE <5EF 3 60 

- EF>? ?D5?>4464F5?O 3 1 LF. 

- EFG? ?D5?>4464F5?O 3 1 LF. 

- GG5=<G5E>4O 4>E>4 3 1 LF. 

- =>GF5G> 4?O ?D5?>4464F5?O E 6OE>4>< 6 E5FL "�=F5D=5F" 

- >5>DG4>64=<5: ?5D5=>E=>= ?D>5>F>D Casio xj-a145 projector 3 1 LF., M>D4= 3 1 LF. 

- GG55=>-<5F>4<G5E>4O 4>>G<5=F4F<O 

- F5E=<G5E><5 ED54EF64 >5GG5=<O: F5EF>64O >5>?>G>4 JoliTest (JTRun, 

JtEditor,TestRun), ?4>5F >D<E=OE ?D<?>65=<= Microsoft «OfficeStandard 

2013Russian OLP NL AcademicEdition» 

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO: 

- >>?<G5EF6> ?>E44>G=OE <5EF 3 24 

- EF>? ?D5?>4464F5?O 3 1 LF.  

- EFG? ?D5?>4464F5?O 3 1 LF. 

- GG5=<G5E>4O 4>E>4 3 1 LF. 

- <>=<F>D 3 11 LF. 

- E<EF5<=O= 5?>> 3 11 LF. 

- >?46<4FGD4 3 11 LF.  

- >><?LNF5D=4O <OLL 3 11 LF. 

- E??<F-E<EF5<4 3 1 LF.  

- F5E=<G5E><5 ED54EF64 >5GG5=<O: >D<E=OE ?D<?>65=<= Microsoft «OfficeStandard 

2013Russian OLP NL AcademicEdition» 

'<F4?L=O= 74? 5<5?<>F5>< E 6OE>4>< 6 E5FL �=F5D=5F: 

- >>?<G5EF6> ?>E44>G=OE <5EF 3 25 

- EF>? ?D5?>4464F5?O 3 1 LF. 

- EFG? ?D5?>4464F5?O 3 1 LF. 

- >5>DG4>64=<5: ?5D5=>E=>= ?D>5>F>D ViewSonic 3 1 LF., M>D4= 3 1 LF., <>=<F>D 3 7 

LF., E<EF5<=O= 5?>> 3 7 LF., >?46<4FGD4 3 7 LF., >><?LNF5D=4O <OLL 3 7 LF. 

- EF5??46 3 2 LF. 

- E??<F-E<EF5<4 3 1 LF. 

- F5E=<G5E><5 ED54EF64 >5GG5=<O: ?4>5F >D<E=OE ?D<?>65=<= Microsoft 

«OfficeStandard 2013Russian OLP NL AcademicEdition» 
 

3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 

 
�E=>6=4O ?<F5D4FGD4: 



 

  

1. %>6>DF>64 /. �. �=4<6<4G4?L=O= ?D>5>F. 10 (10311) >?4EEO. 

&5FD44L-FD5=46UD : GG55=>5 ?>E>5<5 / /. �. %>6>DF>64, �. �. %>6>DF>6. 4 2-5 

<74., M?. 4 �>E>64 : , 2023. 4 111 E. 4 ISBN 978-5-907651-12-8. 4 &5>EF : 

M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 

https://e.lanbook.com/book/350345.  

2. �D4=4EL56 �. �.  �E=>6O GG55=>-<EE?54>64F5?LE>>= 

45OF5?L=>EF< : GG55=>5 ?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> 

>5D47>64=<O / �. �. �D4=4EL56, �. �. �D<5>>64, �. �. '>>?>64. 4 2-5 <74., 

?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 163 E. 4 

(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-17639-1. 4 &5>EF : 

M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 

URL: https://urait.ru/bcode/533469 

 

�>?>?=<F5?L=4O ?<F5D4FGD4: 
1. �GD<<EFD>64 �. �.  �5F>4O >D74=<74F<< <EE?54>64F5?LE>>= < 

?D>5>F=>= 45OF5?L=>EF< >5GG4NM<EEO : GG55=>5 ?>E>5<5 4?O 6G7>6 / 

�. �. �GD<<EFD>64, �. �. �4=G=?>64. 4 �>E>64 : �744F5?LEF6> .D4=F, 

2023. 4 115 E. 4 (�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-15400-9. 4 &5>EF : 

M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 

URL: https://urait.ru/bcode/520452. 

 

�D<F<4?L=O5, E?D46>G=>-5<5?<>7D4D<G5E><5 < ?5D<>4<G5E><5 
<744=<O: 

1. %D54=55 ?D>D5EE<>=4?L=>5 >5D47>64=<5. �><??5>F. �5EF=<> 

ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O. %D54=55 ?D>D5EE<>=4?L=>5 

>5D47>64=<5. �D<?>65=<5 > 6GD=4?G «%D54=55 ?D>D5EE<>=4?L=>5 

>5D47>64=<5» 
 

�5D5G5=L D5>><5=4G5<OE �=F5D=5F-D5EGDE>6: 
1. www.school-collection.edu.ru (�4<=4O >>??5>F<O F<DD>6OE 

>5D47>64F5?L=OE D5EGDE>6). 

 

4. ���&$��, � �&���� $��'�,&�&�� �%�����/ 
��%&�����/ 

 

�>=FD>?L < >F5=>4 D57G?LF4F>6 >E6>5=<O 4<EF<??<=O >EGM5EF6?O5FEO 

?D5?>4464F5?5< 6 ?D>F5EE5 ?D>6545=<O E5<<=4DE><E 74=OF<=, F5EF<D>64=<O, 4 

F4>65 6O?>?=5=<O >5GG4NM<<<EO <=4<6<4G4?L=OE 7444=<=. 

 

$57G?LF4FO >5GG5=<O 
(>E6>5==O5 G<5=<O, GE6>5==O5 7=4=<O) 

$>D<O < <5F>4O >>=FD>?O < 
>F5=>< D57G?LF4F>6 >5GG5=<O  

'<5=<O: 
?>>474FL E?>E>5=>EFL > <==>64F<>==>=, 

4=4?<F<G5E>>=, F6>DG5E>>=, 

E5<<=4DE>4O D45>F4 

D45>F4 =44 <=4<6<4G4?L=O< 




